

INSIGHT PUBLIC SECTOR SLED 2701 E INSIGHT WAY CHANDLER AZ 85286-1930 Tel: 800-467-4448

SOLD-TO PARTY 10585932

DEKALB COUNTY ACCTING SVCS, MALOOF ANNEX 1300 COMMERCE DR DECATUR GA 30030-3222

SHIP-TO

DEKALB COUNTY ACCTING SVCS, MALOOF ANNEX 1300 COMMERCE DR **DECATUR GA 30030-3222**

Quotation

Quotation Number: 225472847 Document Date : 17-SEP-2022

PO Number

PO release:

Sales Rep : Sean Phillips

Email : SEAN.PHILLIPS@INSIGHT.COM

Telephone : +14804096238

We deliver according to the following terms:

Payment Terms

: Net 30 days

: USD

Ship Via

: United Parcel Services/Ground

Terms of Delivery:

: FOB DESTINATION

Currency

Material	Material Description	Quantity	Unit Price	Extended Price
CF-LNDBRK120	Panasonic CF-LNDBRK120 system mounting bracket	26	8.80	228.80
	OPEN MARKET			
FZ-G2AZ-0BKM	PANASONIC - WIN10 PRO (WIN11 DG) - INTEL CORE I5-10310U 1.7GHZ (4.4GHZ) - VPRO - 10.1 WUXGA GLOVED MULTI TOUCH+DIGITIZER - 16GB - 512GB OPAL SSD - INTEL WI-FI 6 - BLUETOOTH - 4G LTE BAND 14 (EM7511) - DUAL PASS (CH1:WWAN/CH2:WWAN-GPS) - INFRARED WEBCAM	26	3,042.03	79,092.78
	OPEN MARKET			
CF-LNDDC120	LIND PA1580-1642 - car power adapter - 120 Watt	26	115.30	2,997.80
	OPEN MARKET			
HA-20LDS2	Havis HA-20LDS2 - docking station	26	751.83	19,547.58
	OPEN MARKET			
FZ-VEKG21LM	Panasonic FZ-VEKG21LM - notebook replacement keyboard - QWERTY - US	26	506.42	13,166.92
	OPEN MARKET			
		Product Su TAX	ıbtotal	115,033.88 0.00
		Total		115,033.88







Thank you for choosing Insight. Please contact us with any questions or for additional information about Insight's complete IT solution offering.

Sincerely,

Sean Phillips +14804096238 SEAN.PHILLIPS@INSIGHT.COM Fax +14807606341

Insight Global Finance has a wide variety of flexible financing options and technology refresh solutions. Contact your Insight representative for an innovative approach to maximizing your technology and developing a strategy to manage your financial options.

This purchase is subject to Insight's online Terms of Sale unless you have a separate purchase agreement signed by you and Insight, in which case, that separate agreement will govern. Insight's online Terms of Sale can be found at the "terms-and-policies" link below.

SOFTWARE AND CLOUD SERVICES PURCHASES: If your purchase contains any software or cloud computing offerings ("Software and Cloud Offerings"), each offering will be subject to the applicable supplier's end user license and use terms ("Supplier Terms") made available by the supplier or which can be found at the "terms-and-policies" link below. By ordering, paying for, receiving or using Software and Cloud Offerings, you agree to be bound by and accept the Supplier Terms unless you and the applicable supplier have a separate agreement which governs. https://www.insight.com/terms-and-policies



INSIGHT PUBLIC SECTOR SLED 2701 E INSIGHT WAY CHANDLER AZ 85286-1930 Tel: 800-467-4448

SOLD-TO PARTY 10585932

DEKALB COUNTY ACCTING SVCS, MALOOF ANNEX 1300 COMMERCE DR **DECATUR GA 30030-3222**

SHIP-TO

DEKALB COUNTY ACCTING SVCS, MALOOF ANNEX 1300 COMMERCE DR **DECATUR GA 30030-3222**

Quotation

Quotation Number: 225472845 : 17-SEP-2022 **Document Date**

PO Number

PO release:

Sales Rep : Sean Phillips

Email : SEAN.PHILLIPS@INSIGHT.COM

Telephone : +14804096238

We deliver according to the following terms:

Payment Terms

: Net 30 days

Ship Via

: United Parcel Services/Ground

Terms of Delivery:

: FOB DESTINATION

Currency : USD

Material	Material Description	Quantity	Unit Price	Extended Price
HA-55LVDLT2L	Havis Lite HA-55LVDLT2L - docking station - VGA - 10Mb LAN	50	743.17	37,158.50
	OPEN MARKET			
<u>FZ-55FZ-13KM</u>	PANASONIC TOUGHBOOK FZ-55 FZ-55FZ-13KM LTE 14" TOUCHSCREEN SEMI-RUGGED NOTEBOOK - FULL HD - 1920 X 1080 - INTEL CORE I5 11TH GEN I5-1145G7 - 16 GB TOTAL RAM - 512 GB SSD	50	3,262.40	163,120.00
	OPEN MARKET			
		Product Subtotal		200,278.50
		TAX		0.00
		Total		200,278.50
		-		

Thank you for choosing Insight. Please contact us with any questions or for additional information about Insight's complete IT solution offering.

Sincerely,

Sean Phillips +14804096238

SEAN.PHILLIPS@INSIGHT.COM

Fax +14807606341

Insight Global Finance has a wide variety of flexible financing options and technology refresh solutions. Contact your Insight representative for an innovative approach to maximizing your technology and developing a strategy to manage your financial options.







This purchase is subject to Insight's online Terms of Sale unless you have a separate purchase agreement signed by you and Insight, in which case, that separate agreement will govern. Insight's online Terms of Sale can be found at the "terms-and-policies" link below.

SOFTWARE AND CLOUD SERVICES PURCHASES: If your purchase contains any software or cloud computing offerings ("Software and Cloud Offerings"), each offering will be subject to the applicable supplier's end user license and use terms ("Supplier Terms") made available by the supplier or which can be found at the "terms-and-policies" link below. By ordering, paying for, receiving or using Software and Cloud Offerings, you agree to be bound by and accept the Supplier Terms unless you and the applicable supplier have a separate agreement which governs. https://www.insight.com/terms-and-policies